25515 25515
255158 - - 255158
05-09 FORD 05-09 FORD

GRILLES

MUSTANG MUSTANG
LX Models LX Models

BUMPER INSERT — LX MODELS

Recommended Tools: Parts List / Hardware:

Phillips Screw Drivers 1 Billet Insert (7 Bars)

5/16 Wrench or Nut Driver 4 6-32 x 1.5 Machine Screw
4 6-32 Nylock Nuts & #6 Flat Washers
2 1.5” J Hooks
2 2” Flange Brackets

Read and understand instructions before attempting installation

Step 1

Insert a 1.5” machine screw into the inner tabs on the insert. From the back of the insert, slide a J hook,
washer and Nylock nut on screws (thread the nuts by hand).

Center Mounting Tabs  Outer Mounting Tabs

@Em@ Gz | O )

Step 2

Now center the billet over the bumper openings. Wrap the J hooks around the top of the center opening.
Install the flange brackets with the remaining screws, nuts and washers on the outer tabs. The flange
brackets hold the billet to the honeycomb area in the bumper cover opening. Use a Phillips screwdriver and
5/16 wrench to snug the hardware down until the billet is held firmly in place.


http://www.carid.com/t-rex-grilles/
http://www.carid.com/custom-grilles.html



